VA

A L # 1T FH
AN (RFTE)HEER AtLEHH T R304E8H3H
1 B I 3 (B M)
Mgl 15 | THze |B Wyl THBM ALBMESE LB EUBE A E CERBIES) A Al EAERU % s
Ri& A AF = EIE B 8 #
H (1) (2) (3) (4) (5)
iﬁ*l’{*;f Y| wnsq |BEmEw | rEze |@wzssus
KA B RMEW)
BEREM i ETEESE R A#LEHE]  ¥5,300,000]  ¥5,100,000f  ¥5,150,000 AfLEHR
Bk | <" z2E= 200 100, 120 1@
90 EBIT= A
RiE ¥5,508,000 ¥5,788,800
CHERRURA CHERRUHA
HERESD) HERESD)
H (1) (2) (3) (4) (5)
(BR)ERAE | ARAERGR | BEERG | BEHAE |BEAE=
@ (BR)T Al
L EiEEE = iE SxE | 2oE ¥17,750,000] ¥17,950,000] ¥18,100,000] ¥17,950,000] ¥17,980,000 e
170 I=% B (6)
RiE e AL () ¥19,1?0,ooo ¥19,792,0\80
CHERRUHA CHERRUHA
¥17,980,000 HEBRZED) HEBRZED)
=]
[a]
Ri&
CHERRURA CHERRUHA
HERESD) HERESD)

GE) EBRCANSMES. TRERAILE




V

A L O T A B
ANN(RBEB)) KRR AtLEAH F k3058 H3H
= S ¥ E (Bf1:F)
;\; B IH | TH%s ?fj Tﬁ %% xf**’z"iﬁﬁ B8 EELBLUREALE ’@“;‘; ?’E*Lzﬁi % s fiit
5 5 a ¥ iE &
=| (1) (2) (3) (4) (5)
ty y 1y dE . FRT =T oo —iz |ZVETLAY
FRIEVIR B VIR Y — |5 s e |(B) /821 o o
o Pl P AL )2t WL (1:3]5)»“:\/%1@%"5"%
F
SE kT EE L = 2
. ﬁﬂg%ggﬂ;ﬁﬁ Eﬂﬁﬁgﬁm FES |kFk fof—r3.960.000 A#LEGR|  ¥4300000] ¥4310000 ¥4520,000 . o
RETET (6)
R %ﬁﬁ;@_ﬁiiﬁrﬁ ¥4,276,800 ¥4,884,840
g
CHEBRUA CHEBRUA
AfLEER HEBREZST) | HEBRZST)
=| (1) (2) (3) (4) (5)
11 — o HRMERE =
o AU |0 SRS stk ) BiOR) 8 (B REET
HTEEREIC HXA SRS AT
‘;gé’f“fi;@ RIETRIGT| oy . ¥4630000] ¥4500000 4630000 4700000 ¥4660,000] . AT
H31.1.31 J\%‘%ZJ_]E; EEHM = )
BERT e
R (LIJHj)tEJﬂEEQEJr ¥4,860,000 ¥5,076,000
CHEBRUMA CHEBRUA
¥4,600,000 HEREZETL) | HEBZSD)
=|
18]
R
CHEBRUA CHEBRUA
HEBEZEST) | HEBRZST)

CE) LB 38R RE. TERREAILEE




